
cg';"lr – ^  

jfnjflnsf nlIft sfo{qmdx? 

     o; If]qsf jfnjflnsfx?sf nflu  cfjZos kg]{ v]n ;fdfu|L vl/bsf nflu Pp6f ;ldlt u7g u/L pQm 

;ldltsf] l;kmfl/;df  Psd'i6 ?kdf ;fdfg vl/b u/L cfjZostf cg';f/ ljBfnox?nfO  ljt/0f ug]{ u/L 

ljlgof]hg ePsf] /sd  ?, %,)),))).–  

 

j8fut  jfnjflnsf zLif{ssf of]hgfx?sf] ljj/0f j8f g+= ! 

cf=j= @)&$÷)&%  

qm=;+= j8f g++  of]hgf÷sfo{qmdsf] gfd / 7]ufgf  

ljlgof]lht 

jh]6  s'n hDdf  

1 j*f g+= 1 
lv+ufsf] 1fge"ld cf=lj= df ;f]nf/ jfy?d 

h8fg ug]{  150000 150000 

2 j*f g+= 1 
emf/sf]6 d'lQmgfy cfwf/e"t ljBfnosf] 

sDkfp08 jfn lgdf{0f  150000 150000 

3 j*f g+= 1 n'k|f cf=lj= ;f]nf/ jfy?d h8fg ug]{  150000 150000 

4 j*f g+= 1 Hjfnfd'vL cfwf/e"t ljBfnosf] kmlg{r/ vl/b 100000 100000 

    S'n hDdf  550000 550000 

     

     
j8fut  jfnjflnsf zLif{ssf of]hgfx?sf] ljj/0f j8f g+= @ 

cf=j= @)&$÷)&%  

qm=;+= j8f g++  of]hgf÷sfo{qmdsf] gfd / 7]ufgf  

ljlgof]lht 

jh]6  s'n hDdf  

1 j*f g+= २ 5]ªu'/ cf=lj= df jfnd}qL kmlg{r/, sfk]{6,z}lIfs 

;fdfu|L vl/b   
100000 100000 

2 j*f g+= २ hglk|o cf= lj= df kmlg{r/ vl/b, sfk]{6 , z}lIfs 

;fdfu|L vl/b / sDkfp08afn dd{t ug]{  
200000 200000 

3 j*f g+= २ k'6fs cfwf/e't ljBfno  100000 100000 

    s'n hDdf  400000 400000 

     

     

 j8fut jfnjflnsf zLif{ssf of]hgfx?sf] ljj/0f j8f g+= #  

cf=j= @)&$÷)&%  

qm=;+= j8f g++  of]hgf÷sfo{qmdsf] gfd / 7]ufgf  

ljlgof]lht 

jh]6  s'n hDdf  

1 j*f g+= ३ hggd{n cf=lj= 5';fªdf n}+ªuLS d}qL zf}rfno lgdf{0f, 

vfg]kfgL Joj:yfkg  
500000 500000 



2 j*f g+= ३ c/lgsf] cf=lj= Wofs/df sDkfp08 dd{t ug]{  150000 150000 

3 j*f g+= ३ Hof]lt cf=lj= df t]tfªdf sDkfp08 jfn dd{t ug]{  150000 150000 

4 j*f g+= ३ tfªj] cf=lj= tfªj]df sDkfp08jfn dd{t ug]{  150000 150000 

    s'n hDdf  950000 950000 

 

 

 

 

 

  j8fut jfnjflnsf zLif{ssf of]hgfx?sf] ljj/0f j8f g+= – $  

cf=j= @)&$÷)&%  

qm=;+= j8f g++  of]hgf÷sfo{qmdsf] gfd / 7]ufgf  ljlgof]lht jh]6  s'n hDdf  

1 j*f g+= ४ hgzflGt df=lj= df ;f]nf/ jf6/ lx6/ 

h8fg 
100000 100000 

2 j*f g+= ४ ,,   Onf]S6f]lgs vfg]kfgL lkmN6/ h8fg  80000 80000 

3 j*f g+= ४ ,,   kmlg{r/ lgdf{0f  200000 200000 

4 j*f g+= ४ ,,   ;|f]t s]Gb|ejg dd{t / /+u /f]ug ug]{  100000 100000 

5 j*f g+= ४ ,,   lzIfs cfjf; ejg :t/f]GgtL ug]{  100000 100000 

6 j*f g+= ४ ,,   xf]:6]n dd{t / /+u /f]ug  100000 100000 

7 j*f g+= ४ ,,   lj1fg k|of]uzfnf ;fdfu|L vl/b  50000 50000 

8 j*f g+= ४ ,,   v]n d}bfg :t/Ls/0f  50000 50000 

9 j*f g+= 4 ,,   ljBfyL{ k'/:sf/  50000 50000 

10 j*f g+= ४ ,,  k|hgg :jf:Yo k|lzIf0f sfo{qmd  100000 100000 

11 j*f g+= ४ ,,  cltl/St sIff ;+rfng  300000 300000 

12 j*f g+= ४ lt/L lzz' :ofxf/ s]Gb| sfk6]{ / v]n 

;fdfu|L vl/b 
50000 50000 

13 j*f g+= ४ kflSnª cf=lj= df z}lIfs ;fdfu|L vl/b  50000 50000 

    S'n hDdf  1330000 1330000 

 

j8fut jfnjflnsf zLif{ssf of]hgfx?sf] ljj/0f j8f g+= – % 

cf=j= @)&$÷)&%  

qm=;+= j8f g++  of]hgf÷sfo{qmdsf] gfd / 7]ufgf  ljlgof]lht jh]6  s'n hDdf  

1 j*f g+= ५ ;fªtf lxdfnL cf=lj= sf] nflu 

Joj:yfkg cg'bfg   
100000 100000 

2 j*f g+= ५ 
df5f k'R5|] lzz':ofxf/ s]Gb| 9fs/h'ª 

jfnd}qL kmlg{r/,sfk]{6, z}lIfs ;fdfu|L 

vl/b  

100000 100000 



3 j*f g+= ५ hgd'lQm cf=lj= kmNofs z}lIfs ;fdfu|L, 

:s'n sDdfp08 dd{t  
100000 100000 

4 j*f g+= ५  ,,   ,, tft]kfgL ;f]nf/ jfy?d  lgdf{0f  200000 200000 

    s'n hDdf  500000 500000 

 

 


